Examen : Guide de I'lmplémentation du
Certificat 120-1196-25 dans Oracle Utilities

Dans le monde dynamique d'Oracle Utilities, comprendre les éléments clés de la gestion
est essentiel. Ce guide va explorer les aspects importants de I'implémentation du certificat
120-1196-25, en mettant I'accent sur les domaines cruciaux tels que la gestion des
clients, la facturation des services publics, 'intégration des données et la
métrologie.

1. Oracle Utilities et le Certificat 120-1196-25

Oracle Utilities offre des solutions adaptées aux besoins des entreprises modernes. Le
certificat 120-1196-25 est un atout précieux pour les professionnels souhaitant exceller
dans ce domaine. Ce certificat couvre I'ensemble des fonctionnalités d'Oracle Utilities,
permettant une compréhension approfondie du logiciel.

2. Gestion des Clients

La gestion des clients est un aspect vital pour toute entreprise. Oracle Utilities facilite ce
processus grace a des outils intégrés qui aident a :

e Suivre les informations des clients
e Gérer les interactions

e Améliorer la satisfaction client

Un bon examen de ce sujet prépare le candidat a optimiser ['utilisation de ces outils.

3. Facturation des Services Publics

La facturation précise est essentielle pour la rentabilité des services publics. Avec Oracle
Utilities, vous pouvez :

e Automatiser la facturation
e Réduire les erreurs

e Améliorer la transparence

En se familiarisant avec ces fonctionnalités lors de I'examen, vous serez mieux équipé pour
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comprendre et gérer les défis de la facturation.

4. Intégration de Données

Dans un paysage technologique en constante évolution, I'intégration des données est
cruciale. Oracle Utilities permet une intégration fluide des données provenant de diverses
sources, rendant ainsi les informations facilement accessibles. Cela réduit les silos de
données et améliore la prise de décision. La connaissance de ces processus est
indispensable pour réussir I'examen.

5. Métrologie

La métrologie est fondamentalement liée au suivi précis des mesures des services. Le
systéme d'Oracle Utilities garantit que toutes les données de mesure sont enregistrées et
analysées correctement. Cela aide a assurer des services fiables et de qualité, et une
bonne compréhension de la métrologie est indispensable pour I'examen.

6. Cloud Service Oracle

Les services Cloud d'Oracle offrent une flexibilité et une évolutivité admirables. En
examinant ces services, vous apprendrez comment Oracle Utilities peut étre déployé de
maniére efficace dans le cloud, offrant des avantages comme :

¢ Réduction des colts

o Amélioration de l'accessibilité

Cela fait également partie des connaissances clés pour I'examen.

Conclusion

En résumé, réussir I'examen du certificat 120-1196-25 nécessite une compréhension
approfondie des caractéristiques d'Oracle Utilities. En se concentrant sur la gestion des
clients, |a facturation des services publics, 'intégration des données, la métrologie
et les services Cloud Oracle, les candidats seront mieux préparés pour réussir et tirer
parti de ces compétences dans leur carriere.

Préparez-vous efficacement et profitez des opportunités qu'Oracle Utilities peut vous offrir!
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Question: 1

[Understanding Measurements and Performing Validation/Editing/Estimation (VEE) Processing]
Usage calculations calculate service quantities (often referred to as bill determinants) for bill calculation
purposes. Which option correctly specifies the valid entity or entities related to usage calculations?

A. Usage Version Calculation Group

B. Pre-Processing Usage Calculation Group and Usage Calculation Group

C. Usage Calculation Group and Post-Processing Usage Calculation Group

D. Pre-Processing Usage Calculation Group, Usage Version Calculation Group, and Post-Processing Usage
Calculation Group

E. Usage Calculation Group

Answer: E

Question: 2

[Creating and Managing Bills]

A usage subscription defines which usage calculation group should be used to calculate service
guantities (often referred to as bill determinants). Which record directly initiates a corresponding usage
subscription?

A. Service Agreement Type
B. Usage Request

C. Service Agreement

D. Bill Segment

E. Usage Subscription Type

Answer: C

Question: 3

[Maintaining Device Information]
Measuring components are single points for which data will be received and stored in the system.
Measuring components are either subtractive or consumptive. Which statement is correct?
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A. A subtractive measuring component's usage is equal to the current reading minus the previous
reading. A consumptive measuring component's usage is equal to its current measurement.

B. Subtractive measuring components are associated only with water service, whereas consumptive
measuring components are for gas and electric services.

C. Subtractive measuring components are used to measure demand, whereas consumptive measuring
components are used to measure how much was consumed since the previous reading.

D. Subtractive measuring components are associated with deductive meters, whereas consumptive
measuring components are not.

Answer: A

Question: 4

[Maintaining Device Information]
Meters are a type of device, which can be physical or virtual objects, that can produce data to be
handled by the system. Which two statements are true regarding meters?

A. One or more measuring components can be associated with a meter's device configuration.
B. Only one measuring component can be associated with a meter's device configuration.

C. Only one device configuration can be associated with a meter.

D. One or more device configurations can be associated with a meter over time.

E. A meter can only have scalar or interval measuring components associated with it.

Answer: A,D

Question: 5

[Creating and Managing Bills]

An issue is detected in a frozen bill segment prior to a bill being completed and sent out. If the frozen bill
segment is then cancelled and rebilled, which two statements are correct after the bill has been
completed?

A. Both the originating and cancellation financial transactions are swept onto the same bill and the Show
on Bill switches on the financial transactions will be deselected.

B. The bill will include both the original bill segment that was cancelled and the new billsegment details
for the customer to see.

C. The bill will only include the newly created bill segment details for the customer to see and the
cancelled bill segment details will be suppressed from all subsequent bills.

D. The bill will only include the newly created bill segment details for the customer to see and the
cancelled bill segment details will be included in the following bill.

E. Both the originating and cancellation financial transactions are swept onto the same bill and the Show
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on Bill switches on the financial transactions will be selected.

Answer: A,C
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